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02 2ItBAE X 250,000 250,000 0
OSEEZI|=edE X2 250,000
JISHSHHE =& 1,858,000 446,000 1,412,000
= 1,480,000
L= 378,000
207 Ao 100,000 200,000 A100,000
= 50,000
= 50,000
02 ™AHEHI 100,000 0 100,000
O2AMNAEH2 AL 2= 100,000
= 50,000
= 50,000
307 212t01& 40,000 0 40,000
= 20,000
L= 20,000
02 ItAASE X 40,000 0 40,000
OOEBAEE HERZ 23 40,000
= 20,000
T 20,000
308 MXIHMSOIA 1,718,000 246,000 1,472,000
= 1,410,000
= 308,000
01 MHXSHIAEEXZ ,718,000 246,000 1,472,000
OIS AEE UERIT 2EXE 104,000
= 80,000
L= 24,000
OEAZAERNSE AlH 130,000
= 100,000
L= 30,000
OO IAdE24d 104,000
= 80,000
& 24,000
OJIZHSAHZAIXIA 780,000
= 600,000
= 180,000
OdEeA=gE= 24 500,000
= 500,000
OtHEZ He M S==J|& QIHEE 100,000
= 50,000
L= 50,000
BHE=sMEdTLIHZY 50,000 0 50,000
307 QI2t0IA 50,000 0 50,000
02 BI2tAAEX 50,000 0 50,000
OBBYE =MEY Iy 29 50,000
HH Ao CH 2 =& 958,400 0 958,400
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S 891,000
403 AXIHHSK=01H 3,861,000 7,372,300 23,511,300
= 2,970,000
S 891,000
01 MXISMA=2E= 3,861,000 7,372,300 23,511,300
O3 M3 £4d 286,000
& 220,000
< 66,000
Od¥s ANAMEIZSR =4 650,000
= 500,000
< 150,000
OFH&E 433 =4 1,300,000
= 1,000,000
< 300,000
ODN=NX MEHS R &t 1,300,000
= 1,000,000
S 300,000
Ogdt MEfZR =4 325,000
= 250,000
S 75,000
OtES 2 RZ2MA 25 166,667 60,000 106,667
= 50,000
< 116,667
307 2120l & 166,667 60,000 106,667
= 50,000
< 116,667
02 YIS Ex 166,667 60,000 106,667
OFdg OS2 dE 29 166,667
= 50,000
S 116,667
AAZ e AL K& 10,000 10,000 0
307 GI2t0lH 10,000 10,000 0
04 QIZtHAIE X 10,000 10,000 0
ONHESHEHZIIEHAL S X 10,000
SENASE A 68,000 1,000,000 /932,000
207 SO0 | 68,000 300,000 232,000
01 3 E | 68,000 300,000 A232,000
O3xt S NASB A A2 68,000
OIS =ESAE K& 25,700 41,229 A~ 15,529
308 KNXISHHMSOIE 25,700 41,229 215,529
01 XM EEXS 25,700 41,229 A 15,529
Oltdis=E E5& HiX 16,100
OR4 tds= &= 2,000,000 *16A1 2 *30% 9,600
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CE3ENE € 2el X 1,350,000 1,350,000 0
308 KNHXISHHSOIH 350,000 350,000 0
01 MXEHHBdELS 350,000 350,000 0
OZga32 Zeld uixli(132 350,000
403 AXIEH S A0l & 1,000,000 1,000,000 0
01 TUXIEHMAZE = 1,000,000 1,000,000 0
Ogsane 1,000,000
MEZol 2tel 2,693,544 2,609,242 84,302
= 338,447
= 300,000
S 2,055,097
torE 2l 2,338,200 2,432,930 294,730
= 205,000
= 300,000
< 1,833,200
SAMNERES WS 1,665,000 1,620,000 45,000
308 AXIEHSOIA 1,665,000 1,620,000 45,000
02 123 1,665,000 1,620,000 45,000
OZNERE= 1,665,000
SEGHER L= WUR 56,700 56,430 270
308 AXISHHSOIA 56,700 56,430 270
02 dxuts 56,700 56,430 270
O3 giEsfu=a 56,700
HOEIAXSA 258 XN& 266,500 706,500 440,000
= 205,000
S 61,500
403 X HMEAH=01H 266,500 706,500 440,000
= 205,000
< 61,500
01 TXISHMAZE = 266,500 706,500 440,000
OHAINANSI 22 AH 266,500
= 205,000
< 61,500
SNHESAISEE JI=XE 50,000 50,000 0
307 2iz2told 50,000 50,000 0
02 QI2tFaEx 50,000 50,000 0
OGMNEIEAEE JI=XE 50,000
GAHEI 2= x4 300,000 0 300,000
& 300,000
403 A XIEHHSXH=01H 300,000 0 300,000
& 300,000
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01 AXEMA=2E =R 300,000 0 300,000
Ot 25 sXxd 300,000
= 300,000
BZeE el 355,344 176,312 179,032
= 133,447
& 221,897
SIS AL 22 30,600 49,200 A 18,600
201 et 2,000 2,000 0
01 AtE222|H] 2,000 2,000 0
ONESE2 ML BB HH S 2,000
202 01t 23,600 23,600 0
01 =LA b 23,600 23,600 0
OBBUWEAIL B2 Y25 23,600
301 EtEA = 5,000 5,000 0
12 JIEtE4 3 5,000 5,000 0
ORIBACHH A HELA BESHY 3,000
Ostgdzdaln(128) Za=3 2,000
AHESZZAE 4 127,112 127,112 0
307 212t01& 5,000 5,000 0
02 BlI2tAAE X 5,000 5,000 0
OMHBALAEL DR 5,000
308 XX HHSOIA 122,112 122,112 0
01 IXNSMBELNEES 122,112 122,112 0
O&HEZ2ZAHY 23 122,112
=2SJAJ3LZAMAA AS 197,632 0 197,632
= 133,447
= 64, 185
402 212H X =01 192,555 0 192,555
= 128,370
& 64,185
01 QI GEEXR 192,555 0 192,555
OSEAAZAMA 75 192,555
= 128,370
& 64,185
403 X HMESAH=01H 5,077 0 5,077
= 5,077
01 AXEMA=2E = 5,077 0 5,077
OSEAALAMAN 75 5,077
= 5,077
HII=29 etdA XMel & z2el 14,421,000 11,208,069 3,212,931
= 13,672,000
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= 749,000

HOI=9 etEAXel & 22 14,421,000 11,208,069 3,212,931
= 13,672,000
= 749,000

SZEHHE =HEAZ XA 560,000 840,000 280,000
= 280,000
L= 280,000

308 XX HHSOIA 560,000 840,000 A280,000
= 280,000
= 280,000

01 HXSHBAEXS 560,000 840,000 280,000
SEHHE =HE24Z X 560,000
= 280,000
e 280,000

HI?I MO Xl HHl K& 2,470,000 777,000 1,693,000
= 2,470,000

403 X SHMSAH=201H 2,470,000 777,000 1,693,000
= 2,470,000

01 AXSMA2E = 2,470,000 777,000 1,693,000
OHIAMIHE X FHl 2,470,000
= 2,470,000

SSMEEIICAIE &5 XA 3,269,000 266,000 3,003,000
= 3,269,000

403 X HMEAH=01H 3,269,000 266,000 3,003,000
= 3,269,000

01 RXSHMA2E = 3,269,000 266,000 3,003,000
OZSHEESHEANLE &5 3,269,000
= 3,269,000

HOIZMHEAE X XA 500,000 4,133,000 A 3,633,000
= 500,000

403 XXM SA=201H 500,000 4,133,000 A 3,633,000
= 500,000

01 RXSHMA2E = 500,000 4,133,000 23,633,000
OHIISHE AL &XI 200,000
= 200,000
O=edegAl & &l 300,000
= 300,000

A2ZAIE AX K& 5,838,000 2,770,000 3,068,000
= 5,838,000

403 NtXIEMSK=201H 5,838,000 2,770,000 3,068,000
= 5,838,000

01 RXSHMA2E = 5,838,000 2,770,000 3,068,000
OL2ZAE &X 5,838,000
= 5,838,000
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HOIZ240 2 Kes 170,000 97,069 72,931
307 QI2H0IH 55,000 0 55,000
02 PI2AAMBE 35,000 0 35,000
OGREENE A M E 2 DS 35,000
04 DIASAIS 20,000 0 20,000
ORBzsoY #A 29 20,000
308 XHXIEHHSOIH 115,000 97,069 17,931
01 RASHBABES 18,000 0 18,000
ol LR =R 18,000
08 JIEFRE 2 97,000 97,069 A69
Osoely slaag 223 97,000
MEIIHEl L HEAIL X 1,077,000 575,000 502,000
= 790,000
= 287,000
308 KHXISHHI SO & 1,077,000 575,000 502,000
= 790,000
= 287,000
01 RXNSHBABES 1,077,000 575,000 502,000
0257 2RI Hel 375,000
= 250,000
= 125,000
OBHEE M| AL 702,000
= 540,000
= 162,000
SEPCE SV 12,000 250,000 238,000
308 XHXIEHHSOIH 12,000 250,000 238,000
01 RXSHBABES 12,000 250,000 £.238,000
OUSHE A2 12,000
HMHLIAE SXIAL 525,000 0 525,000
= 525,000
403 RXISH SR 201 525,000 0 525,000
= 525,000
01 XXIGHA X2 X 525,000 0 525,000
OFHMIAL &x 525,000
= 525,000
BZ2 YA (8P D) 87,000 87,000 0
o1z 2a| 4,200 4,200 0
ol 2oyl (22 22D 4,200 4,200 0
203 R =Y 4,200 4,200 0
04 EN2YAL Y] 4,200 4,200 0
s 4,200
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SN CR(EH) - MRAY - BES Arel e
=34 82,800 82,800 0
Jl=&Hl 82,800 82,800 0
201 Let2d| 41,400 41,400 0
01 AtE22(HI 41,400 41,400 0
OsHel YREX 41,400
202 O4Hl 41,400 41,400
01 =W 41,400 41,400
ogzae gRFH 41,400
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